x—-3>0
N3 cucteMbl HEpaBEHCTB 0 = X>3.
X>

log, (x —3)=2-log, x <> log,(x—3) + log, x=2 < log, (X’ —=3x) =2 <
x> —3x=2" <= x*-3x-4=0

3+4/25
2

D=9+4-4=25; x= =X =-LX,=4.Tkx. X>3,T0 X=4.

Omeem:. X=4.

Gj +287 <96 2"+ 2% <0 2X(1+2°) <9< 2X-9<9 < 2¥ <1 x<0.

Omeem: X<0.

. T
IIprpaBHMBaeM npasele YACTH: ZSIn(X + gj = \/§ COSX.

) T . . 1 3
23|nx-cos—+2cosx-sm§=\/§cosx<:>23|nx.5+2003x-7=cosx<:>

& SiNX +4/3C0sX =+/3C0SX <> sinXx=0=> X =m.
Ipu n =2k 23in(x+%)=25in(2ﬂk+%)=2.§=\/§.

Tpu n =2k +1 23in(x+%)=25in(2ﬂk+7r+%j=—2-§=—\/§.

AGCIICCHI TOUEK MIePECeueHns: X = N, opauHatsr: Y = (—1)"+/3.
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